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“Thermal Physics” Fall 2002

Quiz 9 (5 points) 8 November 2002

Professor Mark W. Meisel

PLEASE PRINT and box final results. Show all work for full credit.
Work must be clear and unambiguous for credit.

Consider the table of information that gives the volume of 1 g of water at a number of temperatures
at a pressure of 1 atm. Estimate as closely as you can the temperature change when the pressure
on the water in a hydraulic press is increased reversibly and adibatically from a pressure of 1 atm
to a pressure of 1000 atm, when the initial temperature is 4°C and 75°C. Make any reasonable
assumptions or approximations, but you must state what they might be. A plot of the data is given
on a different sheet in case you might find it useful.

In case you need to know:

The latent heat of fusion for H,O at 1 bar and 0°C is 3.34 x 10° J kg1,

The latent heat of vaporization for HyO at 1 bar and 100°C is 2.26 x 106 J kg™!.
The specific heat capacity at constant pressure of water is 4.18 x 10® J kg~! K1
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